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Subtract.
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Find the missing numbers.
4
0 5 8 3 0 7 5 1 PR
-1 7 2 -2 6 1 9 R Rr
£t & & 7 4 ¥ 3 @B 3 5 § 7
3. Tinh nham (theo mau)
Mau: [5700_2(;0:5500] [ 8400 - 3000 = 5400 ]
3600 - 600 = 6200 - 4000 =
7800 - 500 = 4100 - 1000 =
9500 - 100 = 5800 - 5000 =
4. Tim x, biét:
a. 9140 - x = 5452 b. x + 5432 = 6789
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o Soo Har harvested 4000 oranges on his farm.
Tian Hoo harvested 935 fewer oranges than Soo Har.
How many oranges did Tian Hoo harvest?

m

scovior R

Tian Hoo

Tian Hoo harvested oranges.

9 A shopkeeper has 2000 reams of paper and 1726 notebooks.
How many more reams of paper than notebooks does the
shopkeeper have?

e
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Reams of paper [N

Notebooks

The shopkeeper has more reams of paper than
notebooks.

-------------------------------------

This is the word problem that Googol wrote:

There were 2954 pupils in a school.

1082 pupils were boys.

How many pupils were girls?

How many fewer boys than girls were there?

Here is the model to solve Googol's word problem on page 58:
1082 ?
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2954 - 1082 =
pupils were girls.
- 1082 =
There were fewer boys than girls.
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7. Mét kho c6 4720kg mudi, Ian dau chuyén di 2000kg mudi, [an sau
chuyén di 1700kg mudi. Hoi trong kho con lai bao nhiéu ki-16-gam muéi?

(Gidi béng 2 cdch)
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